M12.2 (mod 3)

blocks | defect matrix
G: 1 3 13x7
2 1 3 %2
3 1 3 X2
4 0 541 = X7,0,10,0
5 0 942 = X7,1,¥10,1
2.G : 6 3 13x7

Block 1: | p10 1,1 Y24 Qi+ P60 6,1 P+
11 =x10 1 .
Ia = x11 . 1 .

221 = X2+ 1 1 1 .

321 = X4+ 1 1 . 1 .

551 = X8,0 1 . 1 1 .

952 = Xs,1 . 1 1 1 )
1101 = X9+ . . 1 . . 1
661 = Xx11,0 2 . 1 1 )

662 = x11,1 . 2 1 1 )
1201 = x13,0 1 1
1202 = X13,1 . . . 1 . 1
1761 = x15,0 1 1 1 1 1 . 1
1762 = Xx15,1 1 1 1 1 1 1

Block 2: | 70 #1121
451 = X6,0 1 . #7,0 i
992 = X121 . 1 P =

1441 = X14,0 1 1

Block 3: | w71 @110
455 = X6.1 1 ) P71 i
991 = x12,0 . 1 Y110 =

1442 = X14,1 1 1

45,
99,

45,
99,

¥1,0
P1,1
P2+
Pa+
¥6,0
©6,1
P8+



Block 6:

P12+ $14,0

P16+ P18+

101 = x16,0
102 = x16,1
103 = x17,0
104 = x17,1
121 = x18,0
125 = x18,1
322 = X19,0
323 = X191
881 = X204+
2201 = X22+
1203 = x24,0
1204 = X241

3201 = X254+

e

N = = =

P12+
©14,0
P14,1
¥15,0
©15,1
P16+
P18+

12,
10,
10,
105
104
88,
168,



